


The data sufficiency questions give a lot of test takers headaches. Merely figuring out what
you're asked to do can be awkward. You may now the concept a question is testing but
still miss it because you were confused by the data sufficiency format. |
. n this chapter, you'll decipher what it all means and learn a simple but extremely ef-
. fective approach for those data sufficiency questions.

'WHAT DOES IT ALL MEAN?
i 'The 'f.ir:s_t time you get a data sufficiency question, you will see a screen describing the
directio'ns for that type of question. Tt will say something like this:

. This data sufficiency problem consists of a question and two statements, labeled
=1, (D and (2), In which certain data are given. You have to decide whether the data given
in the statements are sufficient for answering the question. Using the data given in the
statements plus your knowledge of mathematics and everyday facts (such as the num-
ber of days in July or the meaning of counterclockwise), you must indicate whether

o statement (1) ALONE is sufficient, but statement (2) alone is not sufficient
1o answer the question asked;

"o statement (2) ALONE is sufficient, but statement (1) alone is not sufficient
to answer the question asked;

« BOTH statements (1) and (2) TOGETHER are sufficient to answer the ques-
tion asked, but NEITHER staternent ALONE is sufficient;

o EACH statement ALONE is sufficient to answer the question asked;

o statements (1) and (2) TOGETHER are NOT gufficient to answer the ques-
tion asked, and additional data specific t0 the problem are mneedewc}.

You could easily spend a large amount of time trying t0 understand that confusing mo-
rass of instructions. If you do that during the fest, you're throwing away precious minutes
that you need to answex the questions. Instead, you should understand the data sufficiency
format forward and backward before you ever set foot inside a testing center. 5o let's break
it apart and see what those directions reaily mean.

Your mission on a data sufficiency problem is to determine which statement or coxm-
bination of statements gives you enough information to answer the question. Then you
choose the answer choice that matches that combination. The following, chart shows you
what the answers mean.

not enough

not enough enough —-
not enough not enough enough

enough —

|
’

not enough not enough not enough
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Here’s another Wgy to think about what each answer choice means:
CLA D pr4 (1) only
B X @ | (2) only
C @ Teamwork
D @ 2 Either/or
E

@ Cannot answer

" definit

efinition” of each a i

nswer choice so that you

) L

e on O e you never need to read the directions or the text

AD OR BCE

) e

Consider (1) alone.

If(1)is If (1) i
enough .
g not enough
Write AD. i
Consider (2) alone. Cor"g?.c;z%():ﬁ‘
| _ one.

1(2) is

If (2) is If (2) i
. is j
nough not enough enough nolfe(ilfgh
Ch
Ic;)se Chzose Choose Cross off B
. B. Consider (1) and
(2) together.
If (1) and (2) If (1
and (2
tqgether are enough togetlzernare( rzot
. enough
Choose Choose
C. E
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data sufficiency question is to consider statement (1) alone and
atement (1) provides

narrow your choice to AD or BCE. Do ot read statement {2) yet. If st
enough information to answer the question, then A and D are the only possible answer

choices. If statement (1)is insufficient, then only B, C,and E are possihle, Based on state-
ment (1) alone, you will eliminate half of the answer choices.

Your first step on any

Consider (1) alone.

f(1)is f{lyis
not enough

enough

Next, you will consider statement (2) alone. It is extremely important that’you forget
what you saw in statement (1). Avoid the common mistake of rushing pmmediately into
considering both statements together. Suppose fhat statement (1) was sufficient to answer
the question, and you ar€ left with A and D as possible answers. 1f statement (2) is not
enough (by itself) to anSWEr the question, then A must be the answel 1f statement (2) 18

enough, then D is the correct answer.

Consider (1) alone.

#{l)is
enough

Write AD.
Consider (2) alone.

f(2)is
not enough

H(2)is
enough

Choose
A.

Choose
D.

Now, suppose that statement (1) was not enough, and your initial elimination left you
with answers B, C, and E. Aggain, the next stage is to consider statement (2) by itself. I it is
sufficient to answer the question, then B is the correct answer If not, you must eliminate

B and then consider both statements together.
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Consider (1) alone.

(1) is
not enough

Write BCE.
Congider (2) alone.
If (2) is '
If(2)is

enough not enough

Choose Cross off B.
B. Consider (1) and

(2) together.

If you are down to C

. and E as the remaini

consider both sta aining answers, then, and o :

enough in forma;z?igt; toget.her. At thaF point, if statements (1) alf‘ld (2) rclf);t;ir;dm.n you

tion cannot b nswer the question, C is the correct an ar provide
ot be answered, and you should choose E swer. Otherwise, the ques-

Consider (1) alone.

fis
not enough

Write B CE.
Consider (2) alone.

(2)is
not enough

Cross off B.
Consider (1) and
(2} together.

If (1) and (2) If

1
together are enough tOge(tl‘aeall'1 1adre( %’3ot
enough

Choose " Choose
C. ) E
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show this approach in action.

es did Max eat?
as, 2 tewer than Max ate.
gether ate 10 cookies.

The next examples
1. How many cookl

(1) Sharon ate 4 cooki

(2) Max and Sharon 1o

Look at statement (1)- This provides enough informatio
ate 4 cookies, so Max ate 4 + 2 = 6 cookies. Write down

wer the question. Sharon

n to ans
you have

s A D as the answers

know how many of
the information from

left.
’ 2). This is not.enough information. You don't
cause statement

Look at statement (

the 10 cookies Sharon ate and how marny Max ate. You need to forget
statement (1) while you look at statement (2). You chould eliminate D be
(2) didn't work, which leaves A as the correct answer

2. How many marbles dOES Karl have?

(1) Karl has g more marhies than
{2} Jennifer has 8 marbles.
Look at statement (1). This isn't enough information to answer the question. You need
to add 6 to something put you don't know what that something is. Write down “BCE’

as the answers you have left.
Look at statement (2). This jen’t enough either. Forget statement (1} du
Cross off B because statement (2) wasn't enough, and go on io the next step.

you can éind that Kail has 8 + 6 =14

Look at statements (1) and (2) together. Now

marbles. Choose C.

Jennifer'has.

ying, this step-

Quz#l
1. Mike buys @ bicycle and a helmet for a total cost of $316. How

much does the hetmet cost? :
11y The bicycle costs twice as much as the hetmet.

(2) The hicycle costs $210.

¢ Statement {1) ALONE i $
aloné is not sufficlentto @

& statement (2) ALONE is suffici
ajone is not sufficient to answer the question asked.

ROTH statements (1} and {2) TOGETHER are gufficient
10 answer the guestion asked; but NEITHER statement

. ALONE s sufficient.
¢ EACH statement ALONE is sufficient to answer the
-

utficient, but staternent (2}
nswer the question asked.
ent, but siatement i

guestion asked.

statements {1) and (2)
to answer the question 8s
specific to the problem are

TOGETHER are NOT sufficient
ked, and additiona! data

needed.
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2.

00 000

'

(1) Joe picked >
A as many apples as Caroi did.

{2) After Carol st :
o opped picking apples .
picking appies until he had picife% 15 ;s;ecsontmued

Ztgizn::r;; i“ls) {?#QNE is sufficient, but statement (2)

icient to answer the guestion

‘ asked.
;tg;t]:njsent (2) AlTQNE is sufficient, but statement {1d)
BOTH: not sufficient to answer the guestion asked
BoT \’s;t;tetarr:;egtz (Sli)oand (kZ)d?OGETHER are sufficie‘nt
n asked;
B e o ed; but NEITHER statement
EACH statement ALONE i j
E .

st soked is sufficient to answer the
S
{ ;a;gg:s:rti h{; )qaundsig) TOGETHER are NOT sufficient

S estion asked, a it
specific to the problem are needneddéddmonal e

While trick-or-treati
ting at a certain ho - :
rou i : use, each child i i
tghe Dh.rlzcewed either one or two pieces of cand ;{n a particular
children received two pieces of candy? y. How many of

(1) Of the children i
n the .
{2) ?ieces of candy. group, 25 percent received two
he children in the gr :
ou .
of candy at the hougse. p received a totai of 15 pieces

< .

altj;eer?:nt m AITO.NE is sufficient, but statement (2)

2o not sufficient to answer the question asked

aisninl\em {2) AiTQNE is sufficient, but statement (%)‘

o is not sufficient to answer the question asked

iy ans\irt;irt?rr:;eghzgi)oand (;)dTOGETHER are sufficie'nt

n asked;

10 aneywer the duestio ed; but NEITHER statement

EACH statement ALONE is suffici

pvolminiodiod E is sufficient to answer the

S

t;a;ﬁ?ﬁ:rt;f;)qans t{2) TOGETHER are NOT sufficient
S uestion asked, iti

specific to the probiem are ncat-éac.:!‘:a‘ccii.a Adifons! date

00 000
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. s a were
4. The rents on Doug's apartrnent and Magda's apiartr.w;{;:\;asg ©
| both increased. Which tenant paid the larger dollar i 3

rent?

11} Doug’s rent increased 2 percent.
{2} Magda's rent increased 8 percent.

' icient. but statement {2)
tatement (1) ALONE I8 sufficient, '
< itgne is not sufficient to answer the question aske:i.
D Statement (2) ALONE is sufficient, but stat_ementk( Cg
atone is not sufficient to answer the question as le. . t
- BOTH stetements (1) and (2) TOGETHER are sufhm_egm
to answer the guestion asked: but NEITHER statem
LONE is sufficient. N B
EACH statement ALONE is sufficient to answer the
estion asked. e
gl:atements (1) and (2) TOGETHER are NOT su??em_
to answer the guestion asked, and additional data
specific to the problem are needed.

0

0 0

5. How many guitars doss Rick own?

(T) Rick owns threg fimes as many electric guitars as

coustic guitars. .
(2) ?f Rick owned 6 fewer guitars, he would ov:gw only
two-thirds as many guitars as he aciually owns.

Statement (1) ALONE is sufficient, put statgmeﬂtkLZCI
glone is not sufficient 1o answer the guestion askec.

Staternent (2) ALONE is sufficient, put statlemem%(j(;
alone is not sufficient to answer the question as ed.

)
O
ETHER are sufficient
tatements (1) and {2 TOG o
< tBoO aTrt!sjver the question asked; but NEITHER statement
O
>

ALONE is sufficient. N A
EACH statement ALONE is sufficient 10 answer the

estion asked. N
g?atemems {1) and (2) TOGETHER are NOT sufficient

to answer the question asked, and additional data
specific to the problem are needed.

ELIMINATE CONFUSION

The data sufficiency format is very confusing. The ke
step-by-step method of eliminating srrlx:se er e
practicing this approachy .ta.kmg the 1t_ ‘
on the toughest data sufficiency questions.
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ss is following the

o consistent succe
) fully as you start

ices 5 d care
er choices. Go slowly ana care ‘
o ter it will pay off with high accuracy, even

DON'T FIND THE ANSWER

You usually don't need to find the actual value asked for in a data sufficiency question. You
just need to know whether you could figure it out with the information in the statements.
So dor’t waste your time solving the problem to come up with the numbers; just setting
up the problem will usually be enough.

There is one situation in which you might want to find the number: when you're not
sure whether the problem is actually solvable with the information in the statement. In that

case, you should set up the problem and work through it until you are sure, even if you
find yourself calculating the solution.

AVOID COMMON MISTAKES

Here are ways to avoid some commeon mistakes on data sufficiency questions:

»

When you consider statement (2) alone, you must forget what statement (1)
said. Physically covering up the statement with your finger or pencil can
help. (But be careful about fingerprints on the computer screen!) Otherwise,

you may think that statement (2) provides more information than it really
does.

Don't rush to consider both statements combined. A common tendency is
to read the question and both statements, and then try to juggle all of the
information at once. This mistake will lead to choosing C too frequently,

even though it is wrong. It's important to consider each of the statements

on its own, eliminating answers as you go, before considering them in
combination.

Don't try to do everything in your head. It is a common error for people

to answer data sufficiency questions without wiiting anything on their
scratch paper. That's a big no-no. Even though you don’t need to calculate
an answes, you should write down AD or BCE to help you eliminate. Also,
writing down the given pieces of information, setting up equations, and the

like often help you determine when you have enough pieces of the puzzle to
answer the question.

As always, read carefully. Data sufficiency questions are notorious for
deliberate trickery. Be on the lookout for misleading phrases, and give
yourself enough time to read the question slowly and completely.
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O
-

7 ffsandtare positive, what i

(=27

P
&P,
D EACH statement ALONE is sufficient to answer the
O

PRACTICE SET

4 “What was the total cost to place ¢
calls?

2 minutes.
Each call lasted at l_e:aa_st_ :
({12}} The rate for long distance calls is $0

long distance telephone

32 per minute

.

i ‘cient, but statement m
ent (2) ALONE is sufficient, . |
2:3:1?:3 not sufficient 1o answer the question a?‘isi )
ROTH staiements (1) and (2) TOGETHETRHaErg z\;aten:;em
10 answar the guestion asked; but NE .

ALONE is sufficient,

¢ EACH statement ALONE is sufficient to answer the

question asked.

o statements (1) and (2) TOGETHER are NOT sufficient

10 answer the guestion asked, and additional data
‘ sbec’n‘ic to the probiem aré needed.

S fhe value of s?

2) s=3.1

> Statement (1) ALONE 1S sufficient, but staiement (2)

ion asked.
alone is not sufficient to answer the question @

- D Statement (2} ALONE is sufficient, but statement (1)

fficient 10 answel the question asked.

~alone is not U THER are sufficient

E
tements {1) and {2) TOG cion
i? ;—;{si}gr the question asked; but NEITHER statement

ALONE is suffictent,

tion asked. -
gl::t(a\e;neﬂts (1) and (2) TOGETHER are NOT sufficient

to answer the guestion asked, and additional data
specific to the probiem are needed.
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3.. What is the value of x?

(1) 3x+y=12
(2) y=9

Statement (1) ALONE is sufficient, but staterment {2)
alone is not sufficient to answer the guestion asked.
Statement (2} ALONE is sufficient, but statement (1)

--alone is not sufficient to answer the question asked.
BOTH statements (1) and {2} TOGETHER are sufficient
to answer the question asked; but NEITHER statement
ALONE is sufficient, :

EACH statement ALONE is sufficient to answer the
guestion asked. '

Statements (1) and (2) TOGETHER are NOT sufficient
to answer the question asked, and additional data
specific to the problem are needed.

00 800

‘4 Tom spent the day baking cookies. Of the first three dozen cookies,

one third contained chocolate chips, Of the remaining cookies,

one half contained chocolate chips. How many cookies containing
chocolate chips did Tom bake that day?

{1} Tom baked five dozen cookies.

(2] Of all the cookies Tom baked, two fifths contained
" chocolate chips. . :

O Statement (1) ALONE is sufficient, but statement (2)
alone is not sufficient to answer the question asked.
(O Statement (2) ALONE is sufficient, but statement (1)
alone is not sufficient to answer the question asked.
BOTH statements (1) and {2) TOGETHER are sufficient
10 answer the guestion asked; but NEITHER statemen
_ALONE is sufficient. :

-

(2" EACH statement ALONE is sufficient to answer the
guestion asked.

O Statements {1) and (2) TOGETHER are NOT sufficient
10 answer the question asked, and additional data
specific to the problem are needed.
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5. The usual price fora bagel was reduced during a sale. How much
money could one have saved by purchasing ten bagels at the sale
price rather than at the usual price?

(1} The usual price for the bagels was $0.50 per bagel.
12} The sale price for the hagels was $0.40 per bagel.

(O Statement (1) ALONE is sufficient, but staternent (2}
alone is not sufficient 10 answer the guestion asked.
Siatement {2) ALONE is sufficient, but statement i

_~alone is not sufficient 1o answer the guestion asked.
BOTH statements {1) and (2) TOGETHER are sufficient
1o answer the question asked: but NEITHER statement
ALONE is sufficient.

EACH statement ALONE is sufficient to answer the
guestion asked.

Sratements (1) and {2) TOGETHER are NOT sufficient
to answer the question asked, and additional data
specific to the probiem are needed.

Q 0

0 0

g, How many sandwiches were sold at a cerfain delicatessen

yesterday?
(1) Atotaiof 64 sandwiches were sold at the delicatessen '
today, 12 more than half the number sold yesterday.
(2) The number of sandwiches sold at the delicatessen
“today was 40 fewer than the number sold yesterday.

Q'” Statement {1} ALONE is sutficient, but statement {2)
alone is not sufficient to answer the question asked.
¢ Statement (2) ALONE is sufficient, but statement Mnm
alone is not sufficient to answer the question asked.
> BOTH statements (1) and {2) TOGETHER are suificient
to answer the guestion asked; put NEITHER statement
ALONE is sufficient.
>  EACH statement ALONE is sufficient to answer the
question asked.
(O statements {1) and (2) TOGETHER are NOT sufficient
1o answer the question acked, and additional data
specific to the problem are needed.
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7.

If a total of 30 puppies are di i
ispiayed in the two wind
store, how many of the 30 puppies are female? ndows of & pet
(1) 2 of the puppies in the feft wi
! puppies in the left window are male.
2 L of the puppies '
'3 & puppies in the right window are female.
& Sltatemeﬂt (E)ALQNE is sufficient, but statement (2)
o alone is not sufficient to answer the guestion asked
S’tatenjem {2) ALQNE is sufficient, but statement (1)
o gone is not sufficient to answer the question asked
_ toOaTrI!-is\irt::cirr:wents (1) and {2) TOGETHER are sufficient
¢ question asked; but N "
- ALONE is sufficient. FIIHER statement
EACH statement ALONE is suffici
suff
st oy ufficient to answer the

Statements (1) and {2) TOGETHER are NOT sufficient
to answer the question asked, and additional data
specific to the problem are needed,

By what percent did the price of a particular stock increase?

{1} The pr%ce of the stock increased by $10.
{2} The price of the stock doubled to $20.

O ;
S[taterpent (1) ALlQNE is sufficient, but statement {2)
-~ alone is not sufficient to answer the question askad
GS ) Sltaterpent {2) AITQNE is sufficient, but statement {1}
@ ;one is not sufficient to answer the question askad.
tOOTH statements (1) and (2) TOGETHER are sufficient
answer the question asked; but NEITHER statement
o ALONE is sufficient, o
EACH statement ALONE is suffici
uf
_ Coeton scket ficient to answer the
. tStatements (1) and (2) TOGETHER are NOT sufficient
to answer the question asked, and additional data
specific to the problem are needed.
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9 What is the value of a + b?

i a=7
2) a+b-9=0

i ici tement (2]
O Statement {1) ALONE is sufficient, but stateme
_alone is not sufficient to answer the guestion asked.
Statement (2) ALONE is sufficient, but statpment M
alone is not sufficient to answer the question a?;e.d. t
ER are sufficien
BOTH statements {1} and {2) TOGETH
10 answer the question asked: but NEITHER statement
ALONE is sufficient, ‘
EACH statement ALONE is sufficient to answer the
question asked. N
Statements {1) and (2) TOGETHER are NOT sufficient
to answer the question asked, and additnonal’data
_specific to the problem are needed.

-

00 08

10, How much did a certain taxi ride cost?

1) The taxi ride covered 3.76 miies.
((2)) The cost for the taxi ride was $2.00 plus $0.30 for

. every 0.25 miles.

Statement {1) ALONE is sufficient, but statgment 12)
alone isnot sufficient to answer the question asked.
Statement (2) ALONE is gyfficient, but statgment m
alone is not sufficient to answer thfef *jggsttonsa?;sim

ments {1} and {2) TOGE are su
?oogﬁij}eaihe que&stion asked: but NEITHER statement
ALONE is sufficient.

EACH statement ALONE is sufficient to answer the
stion asked. B
g?:temems {1 and (2) TOGETHER are NOT sufficient
10 answer the guestion asked, and additional data

specific to the problem are needed.

00 ©OO
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1

12,

1. How many of the trucks in a parking lot that contains 40 motor
vehicles are painted red?

{1} Of the motor vehicles in the parking lot, 20 percent
are painted red.

(2) Of the motor vehicles in the parking lot, 15 are
trucks.

Statement (1) ALONE is sufficient, but statement (2)
ajone is not sufficient to answer the question asked.
Statermnent (2) ALONE is sufficient, but statement {1)
alone is not sufficient to answer the question asked.
BOTH statements (1) and {2) TOGETHER are sufficient
1o answer the question asked; but NEITHER statement
ALONE is sufficient,

EACH statement ALONE is sufficient to answer the
_(uestion asked.

Statements (1} and (2) TOGETHER are NOT sufficient

to answer the guestion asked, and additiona! data

specific to the problem are needed.

90 000

Bruce, John, Linda, and Maik stand, in that order, in a straight

fine. If Linda stands 7 feet away from Mark, what is the distance
from Bruce to John?

{1} Bruce stands 7 feet away frem Linda.
{2} John stands 11 feet away from Mark,

> Statement (1) ALONE is sufficient, but statement (2)
alone is not sufficient to answer the question asked.
Statement (2) ALONE is sufficient, but statement (1)
alone is not sufficient to answer the question asked.
BOTH statements (1) and (2) TOGETHER are sufficient
to answer the question asked; but NEITHER statement
ALONE is sufficient.

EACH statement ALONE is sufficient to answer the
question asked.
Staterments (1) and (2) TOGETHER are NOT sufficient

. 10 answer the question asked, and additional data
specific to the probiem are needed.

00 D0
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13, What is the value of x?

() x+y+z=1
2) x+y=1i
O statement {1) ALONE is sufficient, but statement {2
atone is not sufficient to answet the guestion asked.
O Statement (2) ALONE is sufficient, but statement {1)
alone is not sufficient to answer the question asked.
D BOTH statements {1} and (2) TOGETHER are sufficient
1o answer the question asked: but NEITHER statement
ALONE is sufficient.
(O EACH statement ALONE is sufficient to answer the
question asked.
_D  Statements (1) and (2) TOGETHER are NOT suificient
10 answaer the guestion asked, and additional data
gpegaific to the problem are needed.

14. The regular price to1 a hox of Crunch-O cereal is $3.50. How much
money will be saved on the purchase of b boxes of Crunch-0O

cereal if the regular price is speciaily reduced?

(1) The reduced price is more than 50% of the regular
price.

{2) The reduced price is $0.75 less per box than the reg-
ular price.

gratement {10 ALONE is sufficient, but statement (2)
alone is not sufficient 10 answer the guestion asked.
Statement (2) ALONE is sufficient, but statement {1)
alone is not sufficient 10 answer the guestion asked.
BOTH statements (1) and (2) TOGETHER are syfficient
10 answer the question asked: but NEITHER statement
ALONE is sufficient.

EACH statement ALONE is sufficient to answer the
guestion asked.

Statements (1} and (2) TOGETHER are NOT sufficient
10 answer the guestion asked, and additional data
specific to the problem are needed.

o0 000
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th.  Mike bought a com
ught puter system for $4,000 and late i
what price did Mike sefl the computer system? rooldit For

{1} Mike sold the com
puter system f 9 i
e tort y or 680% of the price
{2) Mike agivertised the computer system in a newspaper
at a price of $3,000, which was 25% more than the
price for which he actually soid it.

- Statement (1) ALONE is sufficient, but statement (2)

- alone is not sufficient to answer the queastion asked

Statement {2) ALONE is sufficient, but statement (1)‘

o alone is not sufficient to answer the question asked
1it?BOO;'nHSVthat??ents (1.) and (2) TOGETHER are sufficient
oNE iesrsu?ﬁgiﬁs;lon asked: but NEITHER statement

EACH statement ALONE is suffici

‘ cient t

- question asked. o anower the
Staternents (1} and (2) TOGETHER are NOT sufficient
to answer the question asked, and additional data
specific to the problem are needed.

118} How old, rounded to the nearest year, was Jim in May 19897

{1} Jim's friend Steve, who |

' . s exactly 2 years ol
Jim, turned 25 years old in 1972, ! derven
(2) In March 1982, Jim turned 33 years old.

- S;tatement {n AITQNE is sufficient, but statement (2)

N_..a one is not sufficient to answer the question asked.
Statement {2) AiTONE is sufficient, but statement (1)

o alone is not sufficient 10 answer the question asked.
BOTH statements (1) and (2) TOGETHER are sufficient

to answer the question asked; but NEIT
: : H
- ALONE is sufficient. i starement

CR5 EACH statement ALONE is suffic

. _ is sufficie

o ~, question asked. o ensverthe
Statements {1) and (2) TOGETHER are NOT suificient
10 answer the question asked, and additional data
specific to the problem are needed.
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17. Of the 3,000 cars manufactured in Factory () last year, how many

were still in operation at the end of the year?

(1) Of ail of the cars manufactured in Factory Q, 60%
were still in operation at the end of last year.

(2) Atotalof 48,000 cars manufactured in Factory Qwere
still in operation at the end of last year.

O, Statement (1) ALONE is sufficient, but statement (2}
alone is not sufficient 10 answer the guestion asked.
¢ Statement {2) ALONE is sufficient but statement {1)
alone is not sufficient 10 answer the guestion asked.
> BOTH statements {1) and {2) TOGETHER are sufficient
1o answer the guestion asked: but NEITHER statemant
ALONE is sufficient,

¢ EACH statement ALONE is sufficient to answer the

question asked.

> Statements (1) and (2) TOGETHER are NOT sufficient’
to answer the guestion asked, and additional data
spegcific to the problem aré needed.

18. Normanis practicing shooting free throws, alternating right-handed

shots with left-handed shots. He shoots BO free throws in this

manner, takes a preak, and then shoots another 50 free throws in

the same manner, How many successiul free throws did Norman
shoot?

(1) Norman successfully shot 90% of his free throws
petore the break and 60% of his free throws after the
break. :

{2} Nerman shot 10 more successiul left-handed free
throws than he did successful right-handed free
throws. e

C2 Statement (1) ALONE is sutficient, but statemnent (2
atone is not sufficient to answer the question asked.

O Statement (2) ALONE is sufficient, but statement (1)
alone is not sufficient t0 answer the guestion asked,

(D BOTH statements (1) and (2) TOGETHER are syfficient
to answer the question asked; but NEITHER statement
ALONE is sufficient.

¢ EACH statement ALONE is sufficient to answer the

-

guestion asked.
Staternents (1) and (2 TOGETHER are NOT sufficient
to answer the guestion asked, and additional data

specific to the probler are needed.
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.

E;; 8; me guests, 10 eat a bowl of vanilla ice cream
e gues}s, 5 eat a bowl of strawberry ice cre;am

- i '
_ S‘tatement (1) AITQNE is sufficient, but statement (2)
gone is not sufficient to answer the guestion asked
Itatement {2) ALQNE is sufficient, but statement {1 )‘
ggne is not sufficient to answer the guestion asked
) ;Frll-‘is\it:rtigﬂents (1) and {2} TOGETHER are sufficielnt
r the guestion asked;
o arewer the duee!  but NEITHER statement

+ EACH statement ALONE i o
ﬂ_question N is sufficient to answer the
Statements {1) and {2) TOGETHER are NOT sufficient

to answaer the guestion a iti
S sked, and additional
specific to the problem are needed. e

00 00

20.
The toll for trucks along a certain tolf road is $100 plus $0.50 per

pound of cargo. What is 1
bananas? the toll for a truck carrying a cargo of

(1) Thetruck weighs 4,000 pounds.
(2) The bananas weigh 800 pounds.

- ;
S‘tatement (Y AITQNE is sufficient, but statement (2)
gone is not sufficient to.answer the guestion asked
ltatement {2) AL'O_NE is sufficient, but statement {1 }l
ggne is not sufficient to answer the question asked. -
) ;TH statements (1.) and {2) TOGETHER are sufﬂcie.nt
answer the question asked; hut NEITHER statem
ALONE is sufficient, : o

EACH statement ALONE | ici

is
cation soko. sufficient 1o answer the
TStatements-ﬂ) and (2) TOGETHER are NOT sufficient
0 answer the question asked, and additional data
specific to the problem are needed.

00 0B
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ANSWERS AND EXPLANATIONS

Quiz #1 |
1. D Start with statement (1).You know that fhe bicycle costs twice as much as the
helmet and that the two together cost $315. The only possible prices are $105 for
the helmet and $210 for the bicycle. You can answer the question, s0 narrow it
down to A or D. Next, look at statement {2). You can simply subtract $210 from
$315 to get $105 for the cost of the helmet. This also answeis the question, 80

choose D.

2. A Start with statement (1). You don't know how many apples either person picked,

but you do know that Joe picked fewer than Carol. This answers the question, 0
narrow the choice to A or D. Next look at statement (2). You know that Joe took
longer to pick his apples, but you don't know whether he picked more or fewer

than Carol did. You can't answer the question, so choose A.

3. C Start with statement (1). Although you Kknow the percentage of the group that
received two pieces, you don't know how many children that is. You can't
answer the question, 80 narrow it down to B, C, or E. Next, Jlook at statement

(2). You can't tell how many of the 15 pieces went to “two-piece” Kids and how
many went to “one-piece” kids. Maybe 1 kid received 2 pieces and 13 kids each

received 1 piece. Maybe 7 kids each received 2 pieces and 1 kid received 1 piece.
You can't answer the question, 50 eliminate B. Now, try both statements together.
5% of x receive 2

1f there are X children, then 759% of x receive 1 piece and 2
ces is 15, you can set up this equation:

ieces. Given that the total number of pie
1d solve this equation and find the

0.75x 1 xx) + (025 x 2 % x) = 15. You cou
le to answer the question by finding

total number of children. Then you'd be ab
05% of that number. Choose C.

4 F Start with statement (1), This only mentions Doug's increase, SO you can't

compare that to Magda's increase because you don't know their starting rents.
You can't answer the question, 80 narrow it down o B, C, or E. Next, look at
statement (2). This only tells you about Magda's increase. Again, you can't
answer the question because you don't know their starting rents, s eliminate B.
Next, look at both statements together. Fven though Magda's percent increase 15
larger, you don't know anything about fhe actual dollar increases because you
don't know their starting rents. This eliminates C. You can't answer the question,

a0 choose E.

5 B Start with statement (1). This doesn't tell you anything about the total number of

t about the ratio of electric to acousti
down to B, C, or E. Next, look at st

c. You can’t answer the question,
atemnent (2). If Rick owns
You could solve this equation

ime actually solving for ¥t

guitas, jus
50 NAITOW it
can set up the equation ¥ — 6= 3 Y.

any guitars Rick owns. Don’t waste t
o choose B.

guitars, you
to find how m

You can answet the question using statement (2), 3
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Pracrice Ser

1. E Start wi ‘ :
o ‘;\ rf‘}vitratﬁ?em (1). This tells you nothing about the cost of the calls. You
Look at statemen?l(l;)‘qtﬁni so narrow down the possible answers to B, C ‘and E
how meny minufes tﬁ 0\;{ you know the cost per minute, but you dém’lt knoxa;
B Took at (1) and () te calls lasted. You can't answer the question 5o eliminate
exact number of minut?a%i};fi Yfl:;imﬂo“;: mare, but you st donft] know the
eliminates C. You can't answerythe quéitig:ils‘giiggézagt 14 minutes. This

2. C Start with statemen i
t (1). This doesn't tell i
o _ ell you anything about s. Yt ’ ‘
o 1% gsef}t;gr;,t s;) narrow dov\:n the choices to B, ({ andgE. Look at(:tla;s;t atn SZW .
o cein”t an;N emf}?t doesr} t help. You don’t know ¢, so you can’t soiveir(; ( !
You cart’t Youiz i glggeft1ozn§§o eliminate B. Look at statements (1) and (%‘2)S
’ . = 2.7 into the second e i = (3.1
Now you can solve for s and answer the questior?uégggszo(lg o= B

3. C Start with stateme
nt (1). You can't solve f
otart wi or x because you den’
on{)y ‘;egl 11;1 fg{l L;b lgla:row the answers to B, C, and E. Lgok at s?att;;\éita(;)m?ﬁ?r
ony el ty(l) andbzz; lt gggt;lzgulé g;NYou can't a?swer the question, so elixr{inatlg
‘ . you can plug y =91 ir i
and solve for x. You can answer the question,pso %}ijoosge i(r:1t0 fhe firs equadion

4D S i
tart with statement (1). You know that one third of the first 36 cookies, or 12

cooki i i i
okies, contain chocolate chips. Since there are 5 dozen cookies total, that

1 . ,
eaves 24 cookies of which one half, or 12 cookies, are also chocolate chip. That's

12+12= i ini
24 cookies containing chocolate chips. You can answer the question

50 1 i "
arrow your choices to A and D. Look at statement (2). You can set up the

A U | 2
equation ZX+ Y == i i i i
g 35t ¥ 5 (x + y) , in which x is the first set of cookies (3 dozen)

and y i ini
y is the number of remaining cookies. Since you know that x = 36, you can

! : ,
plug that into the equation and solve for . The total number of chocolate chip

cookies would then b 2
e 2 (x+y). You could answer the question, so choose D.

5.C St i
Sa;]i; gégr?;?;?}l\emr(l)'YOU don’t know anything about the sale price, so
narrow it down t(;J ‘1; IguCh money s saved. You cant answer the queéﬁ(’“}?ou
price, but not the ¢ : 1, and E. Look at statement (2). Now you know the éal
queséion <o elimi Egugr price. You can't find the difference to answer the )
you save $0.50 - g?}a;% - SEJOO;)(})( a;rs E:er?eﬁts (1) and (2) together. You know that
You can answer the question; cl?no oseg({je,' you buy 10 bagels, that’s $1.00 saved.
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6. A Start with statement (1), 1fx is the number of sandwiches sold yesterday, you
| ! ! d to solve the
i == don't actually nee
can set up the equation 64 = 5 x+12. You y -
equation, just know that you could find x. You can answer thg question, &
narrow down the choices to A and D. Look at statement (2). You could set up
an equation, i = X - 40, but you can’t solve it because you don't know ¥, the
4 !

number of sandwiches sold today. You can't answer the question with only B, so

choose A.‘

1
| : | d to say that ~ of the
7 B Start with statement (1). You can tarn the statement aroun ay 1

puppie

s in the left window are female, but you don't know anything about the
. Vou can’ e i ar,
proportion of femnales in the right window. You can ¢ answer the question o

50 you've got answers B, C, and E left. Look at statement (2).‘Same problem, just

- with the othef window. Again you can't answer the question, so eliminate B. |

" Look at (1) and (2) together. Although you know the male-to-female proportion
i each window, you don’t know how many puppies are in each window. ‘If
there are 24 puppies in the left window and 6 in the right, then there are

| 6 + 2 = 8 female puppies. If there are 12 puppies in the left window and 18
pupy;ies in the right, then there are 3 + 6 = 9 female puppies. Don't assume the

puppies are split evenly. You can’t answer the question, 50 choose E.

B Start with statement (1). You know the dollar amount of the inc'rease, 12111;( gﬁu
i dgn’t know the origiﬁai price, so you can’t find the Be'rce;ggﬁo}gﬁr:?ztétement
can't answer the question, 80 narrow it down to B, €, anr : O e
(2). This tells you that the old price was $10 and the 1?ex% price .
106% increase. You can answer the question, s0 choose.e . oot
', B Start with statement (1). This only give}s yg;,ls 1;:)1‘(1:-3111&32(1)1121 %ﬁo@é atogtatement
. . yestion, 50 narrow your chol , C,and E. Look at §
?5S¥gztl§1qsolve for a + b = 9, which answers the question. You dorV\v i(.; fglcgv
what 7 and b are individually, but you don't need o 1n order to ans

. question. Choose B.
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10. C Start with statement (1). This tells you the length of the trip, but not how to get
the cost from that. You can’t answer the question, so your choices are now B, C,
and E. Look at statement (2). This tells you the formula for determining the cost,
but you don’t know how many miles long the trip was. Remember, you need to
forget statement (1) at this point. Now look at statements (1) and (2) together.

You can take the miles from (1) and plug them into the formula from (2} to find

the cost. You don't need to actually find the answer, just to be certain that you
could. Choose C. '

11. E Start with statement (1), You know that overall 20% are painted red, but you
don’t know how many trucks there are or if the trucks are different from the
rest of the motor vehicles. They may be more or less likely to be painted red.
You can't answer the questior, so narrow the choices to B, C, and E. Look at
statement (2). You now know that there are 15 trucks, but you don’t know
anything about the percentage that are painted red. You can’t answer the
question; eliminate B. Look at (1) and (2) together. There are 15 trucks and
20% of all motor vehicles are painted red, but you can’t assume that the 20%
statement applies to trucks specifically. Perhaps none of the trucks are red and

all the red motor vehicles are non-trucks. You can't answer the question, so
choose E.

12. C Start by drawing a picture. It should Jook something like this:
B ] L M

Now, look at statement {1). From the question, you know that LM is 7 feet.

This statement tells you that B plus JL is also 7 feet. But you don't know how
much of the 7 feet is B]. You can't answer the question, so narrow your potentiai
answers to B, C, and E. Look at statement (2). This tells you that JM is 11 feet,
which means that JL is 4 feet because, from the question, LM is 7 feet. However,
you don’t know anything about B or how far away he is from the others. You
can't answer the question, so eliminate B. Look at statements (1) and (2) together.
From the question, you know that LM = 7. From (1) you know that B] + JL=7.

From (2) you know that JL = 4. Substitute that into BJ + JL =7 and you find that
BJ = 3. That answers the question, so choose C.

13. E Start with statement (1). You can't solve for x because you don’t know the values
of iy and z. You can’t answer the question, so narrow your choices to B, C, and E.
Look at statement (2). You can’t solve for x because you don't know what value
to use for y. Eliminate B. Try statements (1) and (2) together. You can solve for z

by substituting x + y = 11 into the first equation, but you can't solve for x. You
can't answer the question, so choose E.

14. B Start with statement (1). Because the statement says “more than 50%,” you can't
- tell whether it's 51%, 99%, or somewhere in between. You can't answer the
question, so narrow it down to B, C, and E. Look at statement (2). This tells you

that you save $0.75 per box, or $3.75 for 5 boxes. That answers the question, so
choose B.

DATA SUFFICTENCY #1 & 43




15. D Start with statement (1) You

that's the price for which Mike sold the co

 question, S0 narrow your choices 0 A and

. that 25% of the sale price is $3,000, so you could
answer the question. Choose D.

solve

16. B

know whether he was 39 or 40 in May.
ear, You can’t answer the question, S0 NAITOW

- 3t statement (2)- If lim turned 33 In
and he would still be 40 in

Start with statement (1). The 60
Q, not just those made last year.
answers narrow {0 B, C, and
to all cars ever manufactured in Factory Q. You
are from last year's batch. You can't answet the que
(1) and (2) together. You otill don't have any
and you can't assume the 60% rate applies to them as
question. Choose E.

Gtart with statement (1)
throws. After the break, he made 60% o
45+30=75 successful free throws. You can
your choices 0 Aand D. Look at statement
you because you don’t know how many
successful right-handed free throws
can't answer the ques

Gtart with statement )
caters, but you don't know lhow many of them eat cho
answer the question. Narrow your choices
(2). This leaves

17. B o, yefers to all cars ¢ver

18. A

(2). This st

19. E

at statements (1) and
eat vanilla ice cream and 5 eat s

(such as my ¢avorite—mint cho
question, 80 choose E.

Gtart with staternent (1)
weight of the bananas. You can’t answer the question,
B, C, and E. Look at statement (2). You can determine
plus $0.50 % 300 = $400 for the cargo of bananas.
weight of the truck because that's N0

colate chip)

20. B
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Gtart with statement (1). Because Greve turned 25 in 1972,
that Jim turned 93 in 1972. So Jim st have turned 40 in
His birthday may
the choices to B, C, and E.
March 1982, then he turne
May. You can answer the question,

L. Look at statement (2). Again,
don't know
stion, so eliminate B. Look at
information about last year’s batch,
well. You can’t answer

Before the break, Norman made 90
£ 50, or 30 free throws.
answer the question,
atement doesn’t help
successful left-handed free throws or
he made. You can’t find the total, so you
tion, This eliminates D, so choose A. -

to B, C, and E. Look at statement
15 other ice creaim eaters, but you gtill don't know how many
eat chocolate ice crear. You can't answer the question,
(2) together. You may be gempted to think that 10 guests
trawberry ice creaim, leaving
ice cream. However, you don’t know whether any other flavors of ice cream
are available. You can't answer the

This is not enough because you need

the toll, because 1
You don't need 1o know the
t a factor in the toll.

just need to find 60% of $4,000 {it's $2,400) and
mputer system.
D. Look at statement {2). You know

You can answer the

for the sale price and

you can determine
1989, but you don't

have been later in the
Look

4 40 in March 1989
so choose B.

manufactured in Factory

You can't answer the question, 80 your potential

the 48,000 refers
how many of those

the

o, of 50, or 45 free
The total is
SO Narrow

CYou can determine that there are 10 other ice cream

colate ice cream. You can't

so eliminate B. Look

5 {0 eat chocolate

to know the
50 narrow the choices 10
it 15 $100

Choose B.
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